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Q.1. Fill in the blanks.
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Q.2. State True or False.

Global

Digital certificate
Invoice

Moral

Software piracy
Ethics

Liability

Private key
Encryption

. Shareware
. Method

. Ismap

. get

. Hotspot

. vertical

True
False
True
True
False
True
False
False
True
. False
. False
. True
. True
. False
. False
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Q3. Multiple choice Question (One).
1. a
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Q4. Multiple choice Question (Two).

a) and b)
a) and )
a) and b)
b) and d)

and c)
b) and c)
a) and c)
a) and c)
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a) and d)
10. a) and b)

Q5. Answer the following questions .

1. What is the purpose of creating hyper link?

Anf. Hyper links are essential for different purposes. such a
To create hook marks.

2]  Toopen or connect mail hox

3] To move backward or forward direci an within different welb pages
To go directly at Home page.

(5] Fo sonnect with E-mall program.

(G l'o go to top or bottom of page or at the st
page of number of weh pages,

7] To go different frames of web page

i8] To run any movie file

sound file simultaneously while browsing the

| To open image file. picture file whenever reduired

1ary, to the end or at any intermedi
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2.  What is digital signature? Where is It used?

{tal Signature means authentication of any electronic record by a subscriber
means of an eloctronie method or procedure.

b scoure data on the imternet digital signature is used.

B |5 unique to the subscriber who affexing it so It is psed to dentifying such
ghscriber

s linked to the electronte record to which it relates in such a manner that il
i - idh imvalidate

e electronic record was altered, the digital signature would be invalidated,
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3. Whatis EDI, briefly explain.

fas. (1) EDI stands for Elecironic Data Interchange. : -
I standardized electronic form belween

[ 1t is the exchange of docuiments in ,
rom A compulsr application in

prganization in an automa fed manner directly I
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one organization to the application in another organizaiion

=nits, suck ; purchase orders,
B EDI 18 used to electronically transmit documents, Such as Purcil |
L & . e B lard business
involces. Inquiries. planning recelvillg advices and other standar pines
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Q6. Write the HTML code for the following shown below: (10)
1)

<html>

<head><title></title></head>

<body>

<form method=get><center>

<table border=1 bgcolor=green>

<tr>

<th><pre><input type=checkbox checked> column-0 column-1 column-2</pre></th></tr>
<tr>

:3:




<td><pre><input type=checkbox value=1 name=a> Setl Setl Setl</pre></td></tr>
<tr>
<td><pre><input type=checkbox value=2 name=a> Set2 Set2 Set2</pre></td></tr>
<tr>
<td><pre><input type=checkbox value=3 name=a> Set3 Set3 Set3</pre></td></tr>
<tr>
<td><pre><input type=checkbox value=4 name=a> Set4 Set4d Setd</pre></td></tr>
<tr>
<td><pre><input type=checkbox value=5 name=a> Set5 Set5 Set5</pre></td></tr>
<tr bgcolor=white>

<td><pre><input type=Submit value="Accept"> <input type=reset
value="Reset"></pre> </tr>
</table>
</form>
</html>

Score Board

Sachin 109"
Kaif 53

<html>
<head><title>Output 19</title></head>
<body><center>
<table border=1>
<caption align=top>Score Board </caption>
<tr>
<td rowspan=2 bgcolor="sky blue">India 301/2 </td>
<td bgcolor=orange>Sachin 109<sup>*</sub></td>
<tr> <td bgcolor=orange>Kaif 53</td></tr>
<tr>
<td rowspan=2 bgcolor="sky blue">Over 38.2 </td>
<td bgcolor=green>Pak 302</td>
<tr> <td bgcolor=green>Akhtar 6.2-0-40</td></tr>
<tr>
<td bgcolor="sky blue" colspan=2>To win : 2 runs in 11.4 overs </td>
</tr>
</table>
</body>
</html>




